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Lista 2 – Derivadas – Gabarito 

1) a) Como lim
∆௫→଴ష

௙(ଶା∆௫)ି௙(ଶ)

∆௫
= 4 e lim

∆௫→଴శ

௙(ଶା∆௫)ି௙(ଶ)

∆௫
= −1, a derivada 𝑓′(2) não existe. 

b) Como lim
∆௫→଴ష

௙(଴ା∆௫)ି௙(଴)

∆௫
= 0 e lim

∆௫→଴శ

௙(଴ା∆௫)ି௙(଴)

∆௫
= 1, a derivada 𝑓′(0) não existe. 

 

2) a) 𝑦ᇱ = 2𝑥ଷ − 3𝑥 − 2; 𝑦ᇱᇱ = 6𝑥ଶ − 3; 𝑦ᇱᇱᇱ = 12𝑥; 𝑦(ସ) = 12; 𝑦(ହ) = 0.   

b) 𝑦ᇱ =
௫ర

ଶସ
+ 𝑥ଶ; 𝑦ᇱᇱ =

௫య

଺
+ 2𝑥; 𝑦ᇱᇱᇱ =

௫మ

ଶ
+ 2; 𝑦(ସ) = 𝑥; 𝑦(ହ) = 1; 𝑦(଺) = 0.     

 

3) a) 𝑦ᇱ = 2𝑥 + 2; 𝑦ᇱᇱ = 2 

b) 𝑠ᇱ = 15𝑡ଶ − 15𝑡ସ + 1; 𝑠ᇱᇱ = 30𝑡 − 60𝑡ଷ 

c) 𝑦ᇱ = 4𝑥ଶ − 4; 𝑦ᇱᇱ = 8𝑥 

d) 𝑦ᇱ =
ଶ௫యି଻

௫మ
; 𝑦ᇱᇱ =

ଶ௫యାଵସ

௫య
 

 

4) a) 𝑦ᇱ = 12𝑥 − 10 + 10𝑥ିଷ; 𝑦ᇱᇱ = 12 − 30𝑥ିସ 

b) 𝑤ᇱ = −9𝑧ିସ +
ଵ

௭మ
; 𝑤ᇱᇱ = 36𝑧ିହ −

ଶ

௭య
 

c) 𝑟ᇱ = −
ଶ

ଷ௦య
+

ହ

ଶ௦మ
+ 1; 𝑟ᇱᇱ =

ଶ

௦ర
−

ହ

௦య
 

d) 𝑦ᇱ = −
ଵଶ

௫మ
+

ଵଶ

௫ర
−

ସ

௫ఱ
; 𝑦ᇱᇱ =

ଶସ

௫య
−

ସ଼

௫ఱ
+

ଶ଴

௫ల
 

 

5)a) 𝑦ᇱ = −5𝑥ସ + 12𝑥ଶ − 2𝑥 − 3 

b) 𝑦ᇱ =
ଶ

௫య
−

ଵ

௫మ
+ 2𝑥 + 1 

6) a) 𝑦ᇱ = −
ଵଽ

(ଷ௫ିଶ)మ
 

b) 𝑓′(𝑡) = ቀ
௧ିଵ

௧మା௧ିଶ
ቁ

ଶ
 

c) 𝑦′ = −
଺(௫మିଶ)

(௫ିଵ)మ(௫ିଶ)మ
 



7) − ௡ோ்

(௏ି௡௕)మ
+

ଶ௔௡మ

௏య
 

8) a) −10 − 3sen (𝑥) 

b) − ଷ

௫మ
+ 5cos (𝑥) 

c) − ଵ

(ଵାୱୣ୬ (௫))
 

d) 𝑥 sec(𝑥) tg(𝑥) + sec(𝑥) −
ୡ୭ୱ(௫)

௫మ
−

ୱୣ୬ (௫)

௫
 

 

9) a) 12𝑥ଷ 

b) 48(8𝑥 − 1)ଶ 

c) 3 cos(3𝑥 + 1) 

d) −sen(sen(x)) cos(𝑥) 

 

10) a) −27(4 − 3𝑥)଼ 

b) ቀ1 −
௫

଻
ቁ

ି଼
 

c) 4 ቀ
௫మ

଼
+ 𝑥 −

ଵ

௫
ቁ

ଷ

ቀ
௫

ସ
+ 1 +

ଵ

௫మቁ 

d) 3senଶ(𝑥)cos(𝑥) 

11) a) ଽ
ସ

𝑥
ఱ

ర 

b) √ଶ
య

ଷ௫
మ
య

 

c) ଻

ଶ√௫ା଺
 

d) ଶ

଻௧
ఱ
ళ

 

e) −
ସୡ୭ୱቌ

భ

(మ೟శఱ)
మ
య

ቍ

ଷ(ଶ௧ାହ)
ఱ
య

 

12) a) 2𝑒௫ 

b) 𝑒௫ା√ଷ 

c) − ଷ

ଶ
𝑒ି

యೣ

మ  



d) −5𝑒ିହ௫ 

e) ௘√ೣ

ଶ√௫
 

f) ௘ೣାଶ

(௘షೣାଵ)మ
 

13) a) ଶ
௫
 

b) ଶ୪  (௫)

௫
 

c) − ଵ

௫
 

d) − ଵ

௫
 

e) ଵ

௫ାଶ
 

f) ଵ

௫ାଵ
 

g) ଶ௫

௫మାଵ
 

h) ଶ௫ାୡ (௫)

௫మାୱୣ୬(௫)
 

 


